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©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010 

SENIOR SECONDARY EXAMINATION, 2010 
flÒ∑§ÁÀ¬∑§ flª¸  I — ∑§‹Ê  ( OPTIONAL GROUP I — ARTS ) 

•Õ‡̧ÊÊSòÊ ó ÁmÃËÿ ¬òÊ 
( ECONOMICS — Second Paper )  

‚◊ÿ — 3 14  ÉÊá≈U  

¬ÍáÊÊZ∑§ — 60

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
GENERAL INSTRUCTIONS TO THE EXAMINEES : 

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ – 
 Candidate must write first his / her Roll No. on the question paper 

compulsorily. 

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U 
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ – 

 If there is any error / difference / contradiction in Hindi & English 
versions of the question paper, the question of Hindi version should be 
treated valid. 

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U – 
 All the questions are compulsory. There are internal choices in 

Question Nos. 23 and 24. 

4. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ – 
 Write the answer to each question in the given answer-book only. 

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜ 
Á‹π¥ – 

 For questions having more than one part carrying similar marks, the 
answers of those parts are to be written together in continuity. 
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6. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ©UûÊ⁄U ¬à̋ÿ∑§ 1 ‡ÊéŒ ‚  

15 U ‡ÊéŒÊ¥ Ã∑§ ŒŸ „Ò¥U – ¬˝‡Ÿ ‚¢ÅÿÊ 6 ‚ 13 Ã∑§ ∑§ ¬à̋ÿ∑§ ©UûÊ⁄U 30 ‡ÊéŒÊ¥ Ã∑§ ∞fl¢ ¬˝‡Ÿ 

‚¢ÅÿÊ 14 ‚ 21 Ã∑§ ∑§ ¬˝àÿ∑§ ©UûÊ⁄U 100 ‡ÊéŒÊ¥ Ã∑§ ŒŸ „Ò¥U – ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ •¢∑§ ©U‚∑§ 

‚Ê◊Ÿ ÁŒÿ ªÿ „Ò¥U –  

 Question Nos. 2 to 5 are very short answer type. Their answers are  to 

be given in 1 to 15 words each. Answers to Question Nos. 6 to 13 are 

to be given within 30 words each and answers to Question Nos. 14 to 

21 are to be given within 100 words each. Marks of each question are 

given against it. 

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬à̋ÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬ 

( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê 

’ŸÊ∑§⁄U Á‹π¥ —  

 There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has 

four alternatives A, B, C and D. Write the letter of the correct 

alternative in the answer-book at a place by making a table as 

mentioned below : 

   ¬̋‡Ÿ ∑̋§◊Ê¢∑§ 
Question No. 

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U  
Correct letter of 

the Answer 

 

 1.       (i)    
 1.       (ii)   
 1.       (iii)   
 1.       (iv)   
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1. (i) ÷Ê⁄UÃ ∑§Ê ªÒ⁄U ¬⁄Uê¬⁄UÊªÃ ÁŸÿÊ¸Ã „ÒU 
 (•) øÊÿ (’) ŒSÃ∑§Ê⁄UË ‚Ê◊ÊŸ  
 (‚) ◊‚Ê‹ (Œ) ∑§Ê¡Í –  
 Non-conventional export of India is 

 (A) Tea (B) Handicrafts 

 (C) Spices (D) Cashewnuts. 1
2  

 (ii) ÷Ê⁄UÃ ◊¥ ÿÙ¡ŸÊ •ÊÿÙª ∑§Ê ª∆UŸ Á∑§ÿÊ ªÿÊ  
 (•) 15 ◊Êø¸, 1952  ∑§Ù (’) 15 •ªSÃ, 1950  ∑§Ù 
 (‚) 06 •ªSÃ, 1952  ∑§Ù (Œ) 15 ◊Êø¸, 1950  ∑§Ù –  
 Planning Commission was set up in India on 

 (A) March 15, 1952 (B) August 15, 1950 

 (C) August 06, 1952 (D) March 15, 1950. 
1
2  

 (iii) ‚fl¸¬˝Õ◊ ßã≈U⁄UŸ≈U ¬˝áÊÊ‹Ë ∑§Ë ‡ÊÈL§•ÊÃ ÁŸêŸÊ¢Á∑§Ã Á∑§‚ Œ‡Ê ◊¥ „ÈUß¸ ? 
 (•) •◊Á⁄U∑§Ê (’) øËŸ 
 (‚) ß¢ª‹Òá«U (Œ) ÷Ê⁄UÃ – 
 Internet system was first started in which of the following 

countries ? 

 (A) America (B) China 

 (C) England (D) India. 1
2  

 (iv) ÁŸêŸ ◊¥ ªÒ⁄U ¬⁄Uê¬⁄UÊªÃ ™§¡Ê¸ dÙÃ „ÒU  

 (•) ∑§Ùÿ‹Ê (’) πÁŸ¡ Ã‹  

 (‚) ’ÊÿÙ-ªÒ‚ (Œ) ÁfllÈÃ – 
 Non-conventional source of energy among the following is 

 (A) coal (B) mineral oil 

 (C) bio-gas (D) electricity. 1
2  
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2.  ¡Ÿ‚¢ÅÿÊ ÉÊŸàfl ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ? 

 What is meant by population density ? 1 

3.  ÁŸÿÊ¸Ã (2002 ∑§ •ÊœÊ⁄U ¬⁄U ) ∑§Ë ŒÎÁCÔU ‚, ÷Ê⁄UÃ ∑§Ê Áfl‡fl •Õ¸√ÿflSÕÊ ◊¥ ∑§ıŸ-‚Ê SÕÊŸ 
„ÒU ?  

 Which is the position of India, with reference to export ( on the base of 

2002 ) in the world economy ? 1 

4.  ÁflŒ‡ÊË ÁflÁŸ◊ÿ ¬˝’ãœŸ •ÁœÁŸÿ◊ ( ∞»§0ß¸0∞◊0∞0 ) 1999  ∑§Ê ◊ÈÅÿ ©Ug‡ÿ ÄÿÊ „ÒU ? 

 What is the main objective of Foreign Exchange Management Act, 

1999 ( FEMA ) ? 1 

5.  ÷Ê⁄UÃ ◊¥ Ÿß¸ ‹ÁˇÊÃ ‚Êfl¸¡ÁŸ∑§ ÁflÃ⁄UáÊ ¬˝áÊÊ‹Ë ∑§’ ‚ ‹ÊªÍ ∑§Ë ªß¸ ?  

 When was the new target public distribution system started in  

India ? 1 

6.  ÷Ê⁄UÃ ◊¥ ¡ÙÃ ©U¬Áfl÷Ê¡Ÿ ∞fl¢ •¬πá«UŸ ∑§ ∑§Ùß¸ ÃËŸ ∑§Ê⁄UáÊ Á‹Áπ∞ – 

 Write any three causes of land subdivisions and scattering of holdings 

in India. 
1
2  + 

1
2  + 

1
2  = 1 

1
2  

7.  Œ‡Ê ∑§ Áfl∑§Ê‚ ◊¥ ¡Ÿ‚„U÷ÊÁªÃÊ ¬˝Ê# ∑§⁄UŸ •ı⁄U ª˝Ê◊ËáÊ ÿÈflÊ•Ù¥ ∑§Ù SflÊfl‹ê’Ë ’ŸÊŸ „UÃÈ 

∑§Ùß¸ ÃËŸ ‚È¤ÊÊfl ŒËÁ¡∞ – 

 Give any three suggestions for ensuring people's participation in 

development of the country and for making the village youths self 

reliant. 
1
2  + 

1
2  + 

1
2  = 1 

1
2  

8. ‹ÉÊÈ ∞fl¢ ∑È§≈UË⁄U ©UlÙªÙ¥ ◊¥ ∑§Ùß¸ ÃËŸ •ãÃ⁄U S¬CÔU ∑§ËÁ¡∞ – 

 Explain any three differences between small and cottage industries.  

  1
2  + 

1
2  + 

1
2  = 1 

1
2  
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9.  ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U ∑§Ë πÊl ŸËÁÃ ∑§ Á∑§ã„UË¥ ÃËŸ ÃàflÙ¥ ∑§Ê ©UÀ‹π ∑§ËÁ¡∞ –  

 Mention any three features of India's Food Policy. 
1
2  + 

1
2  + 

1
2  = 1 

1
2  

10.  ªÊ°œË¡Ë ∑§ •ŸÈ‚Ê⁄U, SflŒ‡ÊË •¬ŸÊŸ ‚ ª̋Ê◊ËáÊÙ¥ ∑§Ù „UÙŸ flÊ‹ ∑§Ùß¸ ÃËŸ ‹Ê÷ Á‹Áπ∞ – 

 According to Gandhiji, write any three benefits to villagers from 

adopting Swadeshi. 
1
2  + 

1
2  + 

1
2  = 1 

1
2   

11.  •Ê¬∑§ •ŸÈ‚Ê⁄,U ÷Ê⁄UÃ ◊¥ •ılÙÁª∑§ ÁflûÊ ∑§Ë Á∑§ã„UË¥ ÃËŸ ¬˝◊Èπ ∑§Á◊ÿÙ¥ ∑§Ù S¬CÔU ∑§ËÁ¡∞ – 

 According to you, explain any three important deficiencies of industrial 

finance in India. 
1
2  + 

1
2  + 

1
2  = 1 

1
2  

12.  ÁmÃËÿ ¬¢øfl·Ëÿ̧ ÿÙ¡ŸÊ ∑§ Á∑§ã„UË¥ ÃËŸ ©g‡ÿÙ¥ ∑§Ù Á‹Áπ∞ –  

 Write any three objectives of Second Five-Year Plan. 
1
2  + 

1
2  + 

1
2  = 1 

1
2  

13.  •Ÿı¬øÊÁ⁄U∑§ Á‡ÊˇÊÊ ∑§ Á∑§ã„UË¥ ÃËŸ ∑§Êÿ¸∑˝§◊Ù¥ ∑§Ê ©UÀ‹π ∑§ËÁ¡∞ – 

 Mention any three informal educational programmes. 
1
2  + 

1
2  + 

1
2  = 1 

1
2  

14. flŸ Áfl∑§Ê‚ „UÃÈ ∑§Ùß¸ ÃËŸ ‚È¤ÊÊfl ŒËÁ¡∞ – 

 Give any three suggestions to develop forests. 1 + 1 + 1 = 3 

15.  ÷Ê⁄UÃËÿ •Õ¸√ÿflSÕÊ ∑§ Áfl∑§Ê‚‡ÊË‹ SflM§¬ ∑§Ù Œ‡ÊÊ¸Ÿ flÊ‹Ë Á∑§ã„UË¥ ÃËŸ Áfl‡Ê·ÃÊ•Ù¥ ∑§Ù S¬CÔU 
∑§ËÁ¡∞ – 

 Explain any three features of Indian economy showing India as a 

developing economy. 1 + 1 + 1 = 3 

16.  Á∑§‚Ë ÷Ë Œ‡Ê ∑§Ë •Õ¸√ÿflSÕÊ ∑§ Á‹∞, •ÊÁÕ¸∑§ ÁŸÿÙ¡Ÿ ∑§ ◊„Uàfl ∑§Ù Á∑§ã„UË¥ ÃËŸ •ÊœÊ⁄UÙ¥ 
¬⁄U S¬CÔU ∑§ËÁ¡∞ – 

 Explain importance of economic planning for the economy of any 

country on any three grounds.  1 + 1 + 1 = 3 
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17. ÷Ê⁄UÃËÿ •Õ¸√ÿflSÕÊ ∑§Ù ÁflŒ‡ÊË ÁŸfl‡Ê ∑§ Á∑§ã„UË¥ ¿U— ‚¢÷ÊÁflÃ ‹Ê÷Ù¥ ∑§Ê ©UÀ‹π ∑§ËÁ¡∞ – 

 Mention any six probable benefits to Indian economy from foreign 

investment. 6 ∞ 12  = 3 

18. ÷Ê⁄UÃ ∑§ Á∑§ã„UË¥ ¿U— ¬˝◊Èπ •ÊÿÊÃÙ¥ ∑§Ù Á‹Áπ∞ – 

 Write any six important imports of India. 6 ∞ 12  = 3 

19.  ∑Î§Á· ÿÙÇÿ ∑§◊Êá«U ˇÊòÊ ∑§ •ÊœÊ⁄U ¬⁄U Á‚¢øÊß¸ ¬Á⁄UÿÙ¡ŸÊ•Ù¥ ∑§Ê flªË¸∑§⁄UáÊ ∑§ËÁ¡∞ – 

 Give classification of irrigation projects on the basis of cultivable 

command area. 1 + 1 + 1 = 3 

20.  ÷Ê⁄UÃ ∑§Ë ⁄UÊCǪ̂UËÿ ¡Ÿ‚¢ÅÿÊ ŸËÁÃ ( 15 »§⁄Ufl⁄UË, 2000 ) ∑§Ë Á∑§ã„UË¥ ¿U— ¬˝◊Èπ ’ÊÃÙ¥ ∑§Ê 

©UÀ‹π ∑§ËÁ¡∞ – 

 Mention any six main features of National Population Policy ( February 

15, 2000 ) of India. 6 ∞ 12  = 3 

21.  •Ê¬∑§ •ŸÈ‚Ê⁄U, ÷Ê⁄UÃ ◊¥ ∑Î§Á· ÁflûÊ ∑§Ë ∑§Ùß¸ ÃËŸ ∑§Á◊ÿÊ° ÿÊ ŒÙ· ’ÃÊß∞ –  

 According to you, state any three shortcomings or defects of 

agricultural finance in India. 1 + 1 + 1 = 3 

22.  ÷Ê⁄UÃ ◊¥ ª⁄UË’Ë ÃÕÊ ’⁄UÙ¡ªÊ⁄UË ∑§Ë ‚◊SÿÊ ∑§ ©Uã◊Í‹Ÿ „UÃÈ ‚¢øÊÁ‹Ã Á∑§ã„UË¥ ¿U— ∑§Êÿ̧∑˝§◊Ù¥ ∑§Ê 

‚¢ÁˇÊ# fláÊ¸Ÿ ∑§ËÁ¡∞ – 

 Explain briefly any six programmes implemented for removal of 

poverty and unemployment problem in India. 6 ∞ 1 = 6 
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23.  ÷Ê⁄UÃ ◊¥ •ılÙÁª∑§ Áfl∑§Ê‚ ∑§Ë Á∑§ã„UË¥ ¿U— ¬˝◊Èπ ‚◊SÿÊ•Ù¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 

•ÕflÊ  

 ÷Ê⁄UÃ ◊¥ ‚Ë◊ã≈U ©UlÙª ∑§Ë Á∑§ã„UË¥ ¿U— ¬˝◊Èπ ‚◊SÿÊ•Ù¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 

 Describe any six major problems of industrial development in India. 

   6 ∞ 1 = 6 

OR 

 Describe any six major problems of cement industry in India. 

   6 ∞ 1 = 6 

24.  ÷Ê⁄UÃ ◊¥ ŸËøË ∑Î§Á· ©Uà¬ÊŒ∑§ÃÊ ∑§ ∑§Ùß¸ ÃËŸ ∑§Ê⁄UáÊ ‚◊¤ÊÊß∞ – ∑Î§Á· ©Uà¬ÊŒ∑§ÃÊ ◊¥ flÎÁh ∑§ 
Á∑§ã„UË¥ ÃËŸ ©U¬ÊÿÙ¥ ∑§Ê ‚È¤ÊÊfl ŒËÁ¡∞ – 

•ÕflÊ  

 ÷Ê⁄UÃ ◊¥ „UÁ⁄UÃ ∑˝§ÊÁãÃ ∑§ Á∑§ã„UË¥ ÃËŸ ¬˝◊Èπ ÃàflÙ¥ ∑§Ù ‚◊¤ÊÊß∞ – ÷Ê⁄UÃ ◊¥ ß‚∑§ Á∑§ã„UË¥ ÃËŸ 
¬˝÷ÊflÙ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 Explain any three reasons for low agricultural productivity in India. 

Suggest any three methods to increase agricultural productivity. 

   ( 3 ∞ 1 ) + ( 3 ∞ 1 ) = 6 

OR 

 Explain any three main features of Green Revolution in India. Describe 

any three effects of it in India. ( 3 ∞ 1 ) + ( 3 ∞ 1 ) = 6 

    

 


